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I »mwn: definition of 293 v nn:
a If:he traded a lamb for a dog — the lamb is narm% 11ox
i Per: 193 nn, following v. 2 that vnn is a price paid for an item
ii  Question: perhaps 253 13n& should also be prohibited
1 Challenge: then there would be three — and the p10a clearly states nnvw D
2 Rather: question was that perhaps 11nx of both 1951 nnr alone would be 1oR
(a) Answer: from the differentiated noun — 9nn as opposed to 11Nk = must be different
b  Similarly: if partners divided 19 lambs and 1 dog — 1 taking 10 lambs, the other 1 dog and 9 lambs — all 10 MR, 9 1Mn
i Question: why not prohibit one lamb corresponding to the dog (in the other group)?
ii ~ Answer: case where dog is worth more than 1 lamb; surplus distributes among other 9
¢ Inversions: i.e. Nt 1Nn (swapping an animal for the N1t as NNaw) or 193 11X (a lamb given for the rights to have nxa with
the dog) are 1mn, per v. 1 — onnw and only these two
i Question (»¥N8 15 82119/ 837): what is source for rabbinic dictum — mnnaa miar pPr?
1 Answer: if so, 7 would prohibit 293 1R
d  Also: m19n of the anR or 9'nn are permitted — per D7aw - only they and not their m7om
i aa7if a pregnant animal is nya7 or gores — 79 is prohibited, as it “participated”
1 However: if a pregnant animal is n¥jpn or worshipped — 190 is permitted (they intended the mother only)
(a) Alternatively: 19 is prohibited there as well; they are happy with the added girth of object of worship
ii 37 if someone is w7pn with the dung of a Ypoan M, valid; with the dung of 1"y *53y — invalid
1 Arguments: in re: 1"y, they prefer the girth (®”surplus” is 19oR), unlike 530 MW (no benefit to owner)
Textual backing: in re 1"y, v. 3 extends to w19; in re: Ypoin MY, v. 4 only prohibits flesh
II 7 mwn: parameters of prohibited 1'nmy janK
a  Only namin a7p pa3p. therefore, if he gave her money, it may be used to buy 127p; but wine, grain or oil — 1708
i r7Am0n 8nooi: if he gave her wheat (e.g.) and she turned it into flour — some permit and others prohibit
1 9or 37 )8nw o1 forbids — "nn” excludes MT51; "Da” includes oW, n"a permits — "on” excludes both
(a) Challenge: n”a have no application for "Dy — Rowp
ii ~ ap77x interpreting X”n 2 - excluding nMYTR M9; DNIN — extends to ornamental gold on n’a
1 Per: nmn» 91 °0v "1 who forbids gold given to n1t even for plating behind the 17p1p
b Only poir. if he gives her pw1pn, nn/ank do not attach
i However: ma do attach to 1'nn/qny, in spite of vp from 0w (Where Y018 Dn) - per 1M 125 (v. 1) — extends to mawy
ii ~ Challenge: let »WTPIN be MOR via inversion of same "p
1 Answer: 9T 93 (v. 1) excludes that which is already 1711 (0w 1pn0)
2 inference: without 111 93, we would have allowed for DwTpn to have 1’nm R attach
3 challenge: it isn’t his to give
(a) answer: case where he includes her in his no, per *27's position (v. 5 contra 1317) that he may “sell” pon
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I n mwn: rule of n”mMoa MToN — may be brought (including na»v 19, per onon)
a  7poR ‘7. N9Mv 19N may not be brought
i 37swversion: all MT5n are 9mn and R™ prohibits all MmTom
1 ~37977 (versionl): dispute about point of disagreement
(a) 277 if they were pregnant first, then violated (e.g. ny>1)
(G A7 mr 72y
(i) 237 MR 7 IRY 1Y
(iii) But: if violated then became pregnant, all agree 151 is 1mmn
(b) a7 dispute is if she got pregnant afterwards
(1) &7z o8 oM an o1 (father is 9, mother is n7oR)
(ii) 227N DM M
(iii) But: if violated while pregnant, all agree that 1708 750
1. And: ®27 is consistent with his own ruling (above) — 1271 nToM ®*n
2 N1797 (version2): dispute about point of disagreement
(@) 277 (per N2°n1 92 81177 77): if they were violated after being D wTpn
(i) A7ritis degrading to offer a 7om in such a case
(ii) 237 no concern for XnYn "11 in this case
(iii) But: if violated as P9, all agree that they are n»mn - they were “changed” by becoming nw1pmn
(b) ~a7(disagrees with &1n 72 8117 “1about 377's ruling): dispute is if they were violated as P
(i) A7ritis degrading to offer a 7om in such a case
(ii) 37 not nnan, as it changed by becoming nw1pn
(iii) But: if violated as wTpn, all agree that it MoOR oM
ii  Note: dispute about na™v 751 could work
1 According to position that n751 1970: if she was na101 then became pregnant
(@) A7 7oR oM AN m
(b) a7 IAMM DM AN M
2 Or according to position that 1751 7’8 719770: if she was pregnant then na1v)
(a) ~7znR 7Y 2w
(b) 237 MR 7 RY 1Y
iii N2 77's assessment: 13271 agree with 8™ that the chick of a N0 is nmoR
1 Reason: they disagree about a mammal, that grows “from the air”
(a) But: an egg is constricting — she fully grows from mother > nmox
(b) &a7 support from dispute n'nan/r™ about maggots from living person (Xnvn r™)
(i) /o7 they disagree, as it is mere excrement
(if) But: an egg is part and parcel of mother hen — they would agree
(c) Challenge (»3x): opposite conclusion is to be reached from dispute about nn
(i) Ap7r™Mis rNVY, as a living person is called nnA (v. 6)
(if) But: the chick grows when the egg breaks, at which point it is just dust
(iii) Besides which: we have an explicit Rn»11 where 8™ is quoted as agreeing that N9 nx»a mMaR is IMn
1. »27 if there is such a Xn3, can’t dispute that
b 01rvIN 12 82220 77 @ MW that nursed from a N9™v may not be brought
i Proposed explanation: because she is nurtured from na™v a%n
1 Challenge: if so, if we fed her vetch of 1y, she should be nmor (she is not)
2 Rather: case is where she only got fresh milk every morning and stood the whole day with that energy
(a) Proving: that here entire nurture was from that milk
¢ Tangential: any mwTp that become N9V may not be redeemed, as we do not redeem nw7p to feed to the dogs
i Per:v.7, which describes what to do with DwIpnn *»10a
1 narm not shearing
2 nboxr not to feed to dogs
3 7wz not milk (i.e. nTay)
ii ~ Alternate 7w77: of authority that we may redeem o'wTp to feed to dogs
1 nbox1 narm: permission is total after no'nw only
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